
the producer of Ergobjörn

Easy-to-drive towing tractor designed to 
easily and safely move heavy containers on 
wheels. The Ergobjörn TW-series is a walkie 
tractor that facilitates heavy work and helps 

TERMS & FUNCTIONS  

Helge Nyberg AB           Industrivägen 2           SE-523 90  Ulricehamn         Tel +46 321 263 00           www.helge-nyberg.com

ERGOBJÖRN TW-12
WALKIE TRACTOR

prevent risks of damages and accidents. 
It can handle loads of up to 1.2 tonnes with 
minimal effort, even on uneven surfaces.



 493 

 854 

 1
01

5/
10

60
 

14166212 

TW-12 Ergobjörn

14 16 62 12

1:10MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2018-12-17

©
 H

el
ge

 N
yb

er
g 

A
B

. I
ng

en
 ti

llv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

st
rib

ue
rin

g 
el

le
r f

ör
ev

is
ni

ng
 u

ta
n 

til
lå

te
ls

e 
av

 
H

el
ge

 N
yb

er
g 

A
B

. M
is

sb
ru

k 
be

iv
ra

s e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B

. N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
st

rib
ut

io
n 

or
 d

em
on

st
ra

tio
n 

w
ith

ou
t t

he
 p

er
m

is
si

on
 o

f 
H

el
ge

 N
yb

er
g 

A
B

. A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B

. K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B
. M

is
sb

ra
uc

h 
st

ra
fr

ec
ht

lic
h 

ve
rf

ol
gt

 n
ac

h 
de

m
 G

es
et

zt
.

 493 

 854 

 1
01

5/
10

60
 

14166212 

TW-12 Ergobjörn

14 16 62 12

1:10MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2018-12-17

©
 H

el
ge

 N
yb

er
g 

A
B

. I
ng

en
 ti

llv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

st
rib

ue
rin

g 
el

le
r f

ör
ev

is
ni

ng
 u

ta
n 

til
lå

te
ls

e 
av

 
H

el
ge

 N
yb

er
g 

A
B

. M
is

sb
ru

k 
be

iv
ra

s e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B

. N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
st

rib
ut

io
n 

or
 d

em
on

st
ra

tio
n 

w
ith

ou
t t

he
 p

er
m

is
si

on
 o

f 
H

el
ge

 N
yb

er
g 

A
B

. A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B

. K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B
. M

is
sb

ra
uc

h 
st

ra
fr

ec
ht

lic
h 

ve
rf

ol
gt

 n
ac

h 
de

m
 G

es
et

zt
.

 2
00

 

 25  70 

 5
0 

Pos Qty Art.nr Description Note

3 6 07 05 01 24 Flänsmutter M10
2 6 07 05 57 07 Skruv M10x25 försänkt
1 2 03 36 40 70 Krok standard

12264070 

Standardkrokar TW-12

12 26 40 70

1:2MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2019-02-28

©
 H

el
ge

 N
yb

er
g 

A
B.

 In
ge

n 
til

lv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

str
ib

ue
rin

g 
el

le
r f

ör
ev

isn
in

g 
ut

an
 ti

llå
te

lse
 a

v 
H

el
ge

 N
yb

er
g 

A
B.

 M
iss

br
uk

 b
ei

vr
as

 e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B.

 N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
str

ib
ut

io
n 

or
 d

em
on

str
at

io
n 

w
ith

ou
t t

he
 p

er
m

iss
io

n 
of

 
H

el
ge

 N
yb

er
g 

A
B.

 A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B.

 K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B.
 M

iss
br

au
ch

 st
ra

fre
ch

tli
ch

 v
er

fo
lg

t n
ac

h 
de

m
 G

es
et

zt
.

 428 

 8
25

 

 3
50

 

 364 

Pos Qty Art.nr Description Note

9 1 12 Laddarplatta
8 1 12 26 40 80 Batterilåda
7 1 07 07 12 71 Laddare 24V 4Ah DC 110-230V Micropower
6 4 07 04 01 11 PLASTKNOPP
5 4 07 01 40 12 HJ.UTR. 100x25 GUM
4 4 10 30 01 06 KLAMMA CLAMP
3 2 08 39 00 10 SHELF
2 1 08 39 00 54 HANDLE TUBE FOR MINITROLLEY
1 1 08 39 00 00 CHASSIS

Rev. QTY Change/Note Date Engineer 14174020 

Laddvagn TW-12

14 17 40 20

1:10MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2019-03-19

©
 H

el
ge

 N
yb

er
g 

A
B

. I
ng

en
 ti

llv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

st
rib

ue
rin

g 
el

le
r f

ör
ev

is
ni

ng
 u

ta
n 

til
lå

te
ls

e 
av

 
H

el
ge

 N
yb

er
g 

A
B

. M
is

sb
ru

k 
be

iv
ra

s e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B

. N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
st

rib
ut

io
n 

or
 d

em
on

st
ra

tio
n 

w
ith

ou
t t

he
 p

er
m

is
si

on
 o

f 
H

el
ge

 N
yb

er
g 

A
B

. A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B

. K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B
. M

is
sb

ra
uc

h 
st

ra
fr

ec
ht

lic
h 

ve
rf

ol
gt

 n
ac

h 
de

m
 G

es
et

zt
.

 1
60

 

 130  2
5 

 2
7 

ju
st

er
ba

r 2
7/

47
 

 23 Justerbar 

Ställbar 23-58mm - 5mm steg

Pos Qty Art.nr Description Note

6 3 07 05 51 05 M6X16 INSEXBULT
5 6 07 05 01 24 Flänsmutter M10
4 6 07 05 53 08 Insexbult M10x25
3 1 07 94 07 18 Inställningsbult GN817-BK-6-9
2 1 03 36 41 01 Kopplingsvinkel
1 1 03 36 41 00 Kopplingsplåt

Rev. QTY Change/Note Date Engineer 12264100 

Koppling med spärr

12 26 41 00

1:5MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2019-03-01

©
 H

el
ge

 N
yb

er
g 

A
B

. I
ng

en
 ti

llv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

st
rib

ue
rin

g 
el

le
r f

ör
ev

is
ni

ng
 u

ta
n 

til
lå

te
ls

e 
av

 
H

el
ge

 N
yb

er
g 

A
B

. M
is

sb
ru

k 
be

iv
ra

s e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B

. N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
st

rib
ut

io
n 

or
 d

em
on

st
ra

tio
n 

w
ith

ou
t t

he
 p

er
m

is
si

on
 o

f 
H

el
ge

 N
yb

er
g 

A
B

. A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B

. K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B
. M

is
sb

ra
uc

h 
st

ra
fr

ec
ht

lic
h 

ve
rf

ol
gt

 n
ac

h 
de

m
 G

es
et

zt
.

 260 

 1
60

 

 150 

Rev. QTY Change/Note Date Engineer

Pos Qty Art.nr Description Note

16 5 07 05 01 24 Flänsmutter M10
15 5 07 05 53 08 Insexbult M10x25
14 2 07 90 41 84 Relä 24VDC 16A Växlande
13 8 07 09 11 21 FLÄNSLAGER 10x10
12 1 07 07 03 76 Kablage Elgripdon
11 5 07 90 29 21 Insexskruv K6S M8x10
10 1 03 36 40 95 Vinkelhållare
9 1 03 36 40 94 Ställdonsvinkling Ø25

8 1 07 07 03 81 LAS 1 Ställdon LAS -1-1-50-24G HIWIN 
(Aratron)

7 1 07 05 52 05 Insexbult M8x16 
6 4 07 05 01 23 Flänsmutter M8
5 4 07 94 08 60 Passbult 10x60 M8
4 1 01 36 40 93 Länk gripdon
3 1 01 36 40 92 Länk gripdon ställdonsfäste
2 1 01 36 40 91 Klämplatta
1 1 01 36 40 90 Gripdons fäste

12264090 

Gripdon el

12 26 40 90

1:5MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2019-02-04

©
 H

el
ge

 N
yb

er
g 

A
B

. I
ng

en
 ti

llv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

st
rib

ue
rin

g 
el

le
r f

ör
ev

is
ni

ng
 u

ta
n 

til
lå

te
ls

e 
av

 
H

el
ge

 N
yb

er
g 

A
B

. M
is

sb
ru

k 
be

iv
ra

s e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B

. N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
st

rib
ut

io
n 

or
 d

em
on

st
ra

tio
n 

w
ith

ou
t t

he
 p

er
m

is
si

on
 o

f 
H

el
ge

 N
yb

er
g 

A
B

. A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B

. K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B
. M

is
sb

ra
uc

h 
st

ra
fr

ec
ht

lic
h 

ve
rf

ol
gt

 n
ac

h 
de

m
 G

es
et

zt
.

 194,5 

 1
79

 

 209 

 164,5 

 172,5 

Pos Qty Art.nr Description Note

8 2 07 05 01 13 Mutter M8
7 1 07 07 03 77 Kablage Batterikassett
6 4 07 05 51 02 Insexbult M6x8 K6S
5 2 07 05 52 05 Insexbult M8x16 

4 2 07 07 12 80 Batteri lead acid Euroglobe 
12V 22Ah

3 1 07 04 03 27 Handtag HT13340S (Ackurat)
2 1 03 36 40 81 Lock batterilåda
1 1 03 36 40 80 Batterilåda

Rev. QTY Change/Note Date Engineer 12264080 

Batterilåda

12 26 40 80

1:5MGMG

P- 00

EngineerDraw. Scale Date Tolerance, where not specified
SS-ISO 2768-1 m

Project

File name

Art-Nr

Revision

Draw ID

Weight

2018-12-18

©
 H

el
ge

 N
yb

er
g 

A
B

. I
ng

en
 ti

llv
er

kn
in

g,
 k

op
ie

rin
g,

 
di

st
rib

ue
rin

g 
el

le
r f

ör
ev

is
ni

ng
 u

ta
n 

til
lå

te
ls

e 
av

 
H

el
ge

 N
yb

er
g 

A
B

. M
is

sb
ru

k 
be

iv
ra

s e
nl

ig
t g

äl
la

nd
e 

la
g.

©
 H

el
ge

 N
yb

er
g 

A
B

. N
o 

m
an

uf
ac

tu
rin

g,
 c

op
yi

ng
, 

di
st

rib
ut

io
n 

or
 d

em
on

st
ra

tio
n 

w
ith

ou
t t

he
 p

er
m

is
si

on
 o

f 
H

el
ge

 N
yb

er
g 

A
B

. A
bu

se
 p

ro
se

cu
te

d 
ac

co
rd

in
g 

to
 th

e 
la

w
.

©
 H

el
ge

 N
yb

er
g 

A
B

. K
ei

ne
 p

ro
du

kt
io

n,
 v

er
vi

el
fä

lti
gu

ng
, 

ve
rb

re
itu

ng
 o

de
r v

or
fü

hr
un

g 
oh

ne
 d

ie
 E

rla
ub

ni
s v

on
 

H
el

ge
 N

yb
er

g 
A

B
. M

is
sb

ra
uc

h 
st

ra
fr

ec
ht

lic
h 

ve
rf

ol
gt

 n
ac

h 
de

m
 G

es
et

zt
.

1.1	 Manufacturer	

1.2	 Model	

1.3	 Drive	

1.4	 Operator type	

1.5	 Load capacity	 kg

2.1	 Service weight with battery	 kg

3.1	 Drive wheel	  

3.2	 Wheel size, front	 mm

3.3	 Wheel size, rear	 mm

3.5	 Wheels, number front/rear (x=driven wheels)	

4.2	 Height	 mm

4.9	 Height of tiller arm, min/max	 mm

4.19	 Overall length	 mm

4.21	 Overall width	 mm

5.1	 Travel speed with load, hi/low	 km/h

 	 Travel speed without load, hi/low	 km/h

6.1	 Motor DC	 W

6.4	 Battery voltage	 V/Ah

	 Programmable motor controller	

	 Helge Nyberg

	 14166212

	 Electric

	 Hand

	 1200

	 90 

	 Foam filled

	 ø 260

	 ø 75

	 2x/2

	  

	 1015/1060

854

495

5/2,5

5/2,5 

400 

 24 

Curtis

Tractor specifications
Id

en
ti

fic
at

io
n

W
he

el
s

M
ot

or
Pr

ef
. 

da
ta

D
im

en
si

on
s

In accordance with VDI Guideline 2198 this specification sheet provides details of the standard tractor only.

Art. no.
12264070

Art. no.
12264090

Art. no.
12264100

Article
Standard hook

Article
Electric gripper

Article
Adjustable mechani-
cally locking hook

Hooks

Art. no.
12264110

Art. no.
14174020

Article
Pin code panel

Article
Battery change trolley

Accessories

Art. no.
12264083
12264087

Li-ion
Battery set Litium, 1x24V/31Ah
Charger 24V/15A

HEAD OFFICE / SWEDEN
Industrivägen 2   
SE-523 90 Ulricehamn 

SALES OFFICE / GERMANY
Contact information:
www.helge-nyberg.de

Phone +46 321 263 00 
Fax +46 321 263 01

info@helge-nyberg.com
www.helge-nyberg.com

Art. no.
12264080
12264085

AGM
Battery set AGM, 2x 12 V/22Ah, incl. box
Charger 24 V/4A

Batteries

TW-12


